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The function below determines the amount of yearly tax a person

must pay, which is based on the amount of money they earn each
year.

0.10x 0 < x < 12,750
t(x) = {0.07(x — 12,750) + 765 ,12,750 < x < 60,000
0.0775(x — 60000) + 4,072.50 ,x > 60,000

a. Describe the domain and range of the tax function in context. .

b. Identify the domain and range of t(x).

c. Based on the function provided, explain how the amount of tax

owed changes if your earnings increase from $10,000 to
$50,000.

/,,-- C, ~ ' > ]
[‘-;__L‘__._ t I dalk Pa7e” e an earming bodwpeudo avd

CLIZ[“%‘O | At VD24 +he 'fu;qu fon pF AP

-l ] - Q =2z, () ) :v \‘[ - —~ !
2 B o5 Qv The oMM ot Of o/ 9es Tobmasimangn s

~ TR dod Pher Wod  an €0t 0'ng 1oy, 12 250< X<E oo
S A . i = et

Al ;'{:U ""-(\\‘~Ov\ 2.0 (X [2?';0)“‘ 76 5 PSS enNts e ‘Cun(-}-fOé}

[ Lo adtaa Kz/? DL }( 46‘0(‘)0@ 1% ﬁb'u"’t,»\/;{ o Hne jq’?'f'\é\

22 J«—{? 4 Le \H'\K voece N> aet f"\('r"ﬂ"”j X I_?@:C’ G0 0, e

htD 4D U3 e Loaryion o 0274 (x 608
{‘\- 1 sl q ‘pi _\_M (v ._\(_.C«,Lsr v((/: )(_Z 66(\@(‘ . e ) O
§Caphn . TePEDndy | (Lo

X o 4 : \
S 8 f&mj& (,Mﬂ 3o pit P&f)t'*f-b‘(’b{’ 'Ce)/(u’-e—*ﬂ AD ke rorpg

A Leeses.

X 7o -f,,ll(-\l_& SN

4
qe



MSL SAMPLE ITEMS

v, Dowain = Op2)
?am&: (OIDO>

C, JOf (00D L [ 78D /
/= 10 (10000

g ;‘gi\l 200 YA Yake DS
V) 12, 750¢ 50000 < 66000
Cept .. (goom-'IZ?
(/o pes G h

/"

;‘,‘O>+765




